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<?xm version="1.0" encodi ng="I|S0O 8859-1" ?>
<xs:schema xm ns: xs="htt p://ww. w3. or g/ 2001/ XM_Schema" >

<xs: el enent nane="docunent">
<xs:conpl exType>
<Xs:sequence>
<xs: el enent nane="nane" type="xs:string"/>
<xs: el enent nane="date" type="xs:date"/>
<xs: el enent name="type" type="xs:string"/>
<xs: el enent name="nunber" type="xs:string"/>
<xs: el enent name="anal ysi s" type="anal ysi sVal ues" mi nCccurs="0"
maxCccurs="1"/>
<xs: el enent nanme="grade" type="xs:string"/>
<xs: el enent nanme="state" type="xs:string"/>
<xs: el enent name ="snoned_codes" >
<xs: conpl exType>
<Xs: sequence>
<xs: el enent nanme="snoned" type="snonedVal ues" m nCccurs="0"
maxCccur s=" unbounded"/ >
</ Xxs: sequence>
</ xs: conpl exType>
</ xs: el enent >
</ Xxs: sequence>
</ xs: conpl exType>
</ xs: el ement >

<xs: el enent name="anal ysi sVval ues" >
<xs: conpl exType>
<Xs: sequence>
<xs: el enent nanme="estrogens receptors" type="xs:string"/>
<xs: el enent name="progesterone_receptors" type="xs:string"/>
<xs: el enent nanme="Ki 67" type="xs:string"/>
<xs: el enent name="c-erb_B2" type="xs:string"/>
</ Xxs: sequence>
</ xs: conpl exType>
</ xs: el enent >

<xs: conpl exType nane="snonedVal ues">
<Xs: sequence>
<xs: el enent nane="codel" type="xs:string"/>
<xs: el enent nanme="code2" type="xs:string"/>
<xs: el enment nanme="nanmel" type="xs:string"/>
<xs: el enent name="nane2" type="xs:string"/>
</ Xxs: sequence>
<xs:attribute name="item d" type="xs:bool ean" />
</ xs: conpl exType>

</ xs: schema>



